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,920,653| 1,597,368 323,285
,458,953| 1,355,268 103,685
71
o ,458,953| 1,355,268 103,685
,458,953| 1,355,268 103,685
100
oz 2oyl ,071,405| 1,084,223 A 12,818
101
SRR RIS 993,630 | 1,004,826 A 11,19
598,787 608,845  A10,058/01 Jl=3Z
n=3 552,726
OLBHA(53) 100,254
- 63 (188 =2JIF) 2,171,800 x 19 x 128 = 26,062
- 72(145201F) 1,783,9008 x 29 x 128 = 42,814
- 82 (83 2II=E) 1,307,4008 x 2% x 128 = 31,378
O =22 (14%) 345,774
- KA (2152 F) 3,317,4008 x 29 x 128 = 79,618
- SIPAH(13E 2| F) 1,848,3008 x 128 x 128 = 266,156
OJIs=(5%) 96,924
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- 82(18a2J|=) 1,754,500 x 4% x 128 = 84,216
- 102(8=z2)=) 1,059,000 x 1% x 128 = 12,708
OX 24 & 542,952,000& x 1.8% = 9,774
a2 46,061
odz2xg 552,726,000 x 1/12 = 46,061
156,095 156,099 NL02 =
Ox2244 76,150

;3253 x 283" x 37AIZ x 128 x 1.018 = 76,150

O3d=& 79,945
OtE=4 17,511
- 2 X 40,0008 x 24% x 0.78 x 128 = 8,986
-JIEFIL S 20,000& x 24% x 1.48 x 128 = 8,525
Ot stdl =& 6,846
-ss 52,0008 x 248 x 0.19 x 43| = 949
-1sSst 409,450 x 24% x 0.15 x 43 = 5,897
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o&JIZE5+E 18,360
-25E 0| & 130,000& x 1% x 128 = 1,560
-204 0l &f~252 0 2t 110,000& x 18 x 128 = 1,320
-15& 01 &f~20= 0] 8F 80,000& x 12&# x 128 = 11,520
-108 0l &f~15= 0l 2t 60,000& x 3% x 128 = 2,160
-5 01 &f~10= 0] BF 50,000& x 3% x 12&8 = 1,800
onezRe+y 9,700
- 8,671

1,848,300& x 8% x 0.048 x 128 x 1.018 = 8,671

-JsA 1,029
-82 1,754,500& x 1% x 0.048 x 128 x 1.018 = 1,029
Ol PR=+=43,317,400& x 1 x 9% x 128 x 1.018 = 3,648
OfIg=¢ 40,0008 x 5& x 12& = 2,400
OEx=g2=+E 21,480

-ASAHEdE 2 BlgR+E 40,0008 x 38 x 128 = 1,440
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e = 50,0002 x 239% x 12€ = 13,800
S e E =y [ PN =
((40,0002 x 12)+(30,0002 x 128 )+(20, 000 x 29 ))
x 128 = 5,280
- AR A 80,0002 x 1% x 2% = 960
37,440 37,440 0/03 HHZAHY
X o4 3 AlH| 130,0009 x 249 x 12€ = 37,440
36,840 36,960 A120|04 DEB XY
OnsEE x| 36,840
Otz 7,560
-6~72 130,000 x 3% x 12%€ = 4,680
-8~92 120,0009 x 29 x 12%€ = 2,880
OAR= 22,080
-1z 140,0009 x 29 x 12%€ = 3,360
-1 A 130,0009 x 129 x 12%€ = 18,720
OJls= 7,200
-82 0l 5t 120,0009 x 5% x 12®€ = 7,200
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EEEEw[:] 552,726,0008 x 1.2/12 = 55,273
306 93,669 ~1,363[06 JHAIXI Rl
DIk X2 552,726,00080 x 16.7% = 92,306
889 15,612 1,277/07  ©H2 Ayl
9ot &l 552,726,0002 x 11/360 = 16,889
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SRS 120 72,420 A300
000 6,000 0/01 HMZADRsAY|
O=szgeEaY
(400,0008 x 1% x 128) + (100,0008 x 1% x
128) = 6,000
1040 44,340 A300(02 =ZEEH
mEIETES 7,740
063 155,0008 x 1% x 128 = 1,860
073 140,0008 x 2% x 129 = 3,360
08~92 105,0008 x 2% x 12® = 2,520
et 30, 120
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o2& (43) 400,000& x 1& x 128 = 4,800
o2& (53) 250,000& x 1&# x 12&8 = 3,000
OA AL 155,000& x 12% x12& = 22,320
025 6,180
09z 105,000& x 49 x 12&8 = 5,040
O10= 95,000& x 198 x 12&8 = 1,140
22,080 22,080 0038 =SEHYFAHE S
O&a+=ESMNSRR 80,000& x 239" x 12& = 22,080
104
HE R HE = 5,655 6,977 N 1,322
5,655 6,977 N1,322|108 BUAZRRRILLS
Os= 88,600& x 2% x 12&8 = 2,127
s Al 105,000& x 29 x 12&8 = 2,520
Ow S| 42,0003 x 29 x 12&8 = 1,008
200
F29Z 387,548 271,045 116,503
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159,051 53,272 105,779
107,505 34,936 72,569(01 Luta2Y|
DaMeg2 15,964
SEEEEIE 200,0008 x 43| = 800
OBANBLIBE 150,0002 x 128 = 1,800
OTHPLUH(+HBRESTN L 3/ X)
100,000 x 10% = 1,000
OJIE2ARE S 20,0002 x 23% = 460
oseR=E2
(12,0008 x 2Z x 128) + (9,008 x 2& x 12 504
g) =
O=AET 20,0008 x 10%A x 128 = 2,400
OHHEHADE 200,0008 x 128 = 2,400
OZM XYJ=E 2 100,0008 x 63| = 600
OM+CTARAAI R &2 3l 1,000,0008 = 1,000
OBFMA U E22 R0 1,000,0002 x 53| = 5,000
O%=2 A2 A (KOLAS) AFi 50,000,0002 = 50,000
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Oxs442 41,541
ONEAHY SR +4+8 250,0008 x 43| = 1,000
OXNFHIIS(AALES)EH2 48
300,000 x 123 = 3,600
ONEEHIIS ASH2I++2 500,0008 x 23| = 1,000
OLI2tHE (G2B) Ol8+42 20,0008 x 103 = 200
OR0IHHIAN A BAx2Z 400,0008 x 128 = 4,800
O ESNE= LT = 1,500,0008 x 63l = 9,000
OFA HABALLE 1,500,000& x 12% = 18,000
OM+ZHA 42 10,0008 x 50m x 23| = 1,000
OFEZHAL +42 11,7608 x 8om x 13| = 941
O2AY HEEH £42 2,000,0008 = 2,000
02 SInSH
OfIge otd2N DS 50,0008 x 1% = 50

Ogst2el Xt ws 48,000& x 19¥ = 48
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B (700) MEEARIHIE & (710) IS ME : (712) B2t = (201) Yere Yyl col ¢ mal)
n; = 8 @ &
= ol &F A =5 Z ) E J| =
-?;" @_ k" =13 g 0:” &- OH
7,360 5,980 1,380|06 2
J=2df =& E200A4H 50008 x 5 x 23% x 12&8 = 6,900
ed 2 JoHSF E20HAH 5,0008 x 239¥ x 43| = 460
2,400 1,200 1,200107 YX&
O=A gtz 100,000& x 20 x 12& = 2,400
30,400 1,600 28,800(08 9=l
O2+24d da4| 1,000 x 30¢ x 8AIZt x 1052 = 25,200
O2gdA2 2 SXdl 3,000,000& = 3,000
L - =D S XYl 2,200,000& = 2,200
202
A& &l =Xl 69,777 66,700 3,077
69,777 66,700 3,077/01 AIAUTAS T 4 bl
O & &Hl =&l 250,000& x 12& = 3,000
LJAIE &8l =X 250,000& x 1308 = 32,500
O3 L= EH S 5,000,000& x 28 = 10,000
OPilot Plant& S AlH| 2,500,000& x 43 = 10,000
OA=s Xl 1,897& x 1,200m = 2,277
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21 (700) A&EAIRHIE 3 (710) 2FYHIS Mg : (712) B2 S : (202) NEZHIRNL crel AR
o = 3 oA o
5 of & o 5 2 ot & | =
oz N E = o & o
x2S Xl 3,000,0008 x 4CH = 12,000
203
=2 =4 5,860 6,688 £828
1,000 1,000 0/02 ZReo 2|
O 4 2| 1,000,0008 = 1,000
4,860 5,688 ~828(03 =2lA&SH]
OYR0OIESH X2 81,0008 x 5% x 12% = 4,860
205
o1 il 36,300 33,825 2,475
36,300 33,825 2,475/01 ZLHY B %04
I =2y X0 110,00081 x 248 x 128 = 31,680
OJI£MOILE &40t 165,0002 x 6% x 43| = 3,960
OSMXIS +EHA X0t 165,0008 x 2% x 23] = 660
207
o2 F Y| 9,160 8, 160 1,000
3,000 3,000 0/01 JBSYYLEY)
(Dl2eggde sy 3,000,0008 = 3,000
960 960 0102 FAIMYRFEHY]
O AR F Y| 40,0008 x 24% = 960
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00) Xt = st (120) JtE A HI KA HIg @ (123) 22 2 (401-01) Al&H] (ol © mE)
= ¥ 49 ©
_ A OH = 2t AF = =
e = 461,700 242100 219,600
120
IFE & H| KA 461,700 242 100 219,600
123
He 251,800 0 251,800
401-01
A& ] 250,000 0 250,000
950 000 0 050 000 | & AR & 250,000,0002 = 250,000
401-03
A& S0l 1,800 0 1,800
! 800 0 { 800 | DAI& 2 THHI 250,000,0002 x 0.72% = 1,800
126
I srn 25,000 0 25,000
405-01
Xt AHE S| 25,000 0 25,000
25 000 0 o5 000 | DAESHS(HEIQATE 8H) 2 25,000,0008 = 25,000
127
2| PHIE 184,900 242 100 AB7,200
405-01
XhAtE S 4] 184,900 240,100 A55,200
184,900 240100 A55 000 UK KHSEFI 7Y 63,500,0002 x 1CH = 63,500
OS2l P 14,000,000 x 1CH = 14,000
OZHEZ2 YHBAIAL o 8,000,0009 x 1CH = 8,000
O I P 10,000,000 x 1CH = 10,000




Mg (127) BI17HI3 2 @ (405-01) XH&tH =4I (
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Oolgaased 2 14,500,0008 x 1CH = 14,500
OJIMAZ0tE DN E(6C) 7 60,000,0002 x 104 = 60,000
OulbiAolE (e 8) 7 500,0008 x 1CH = 500
Cpc 7 1,500,0008 x 6 = 9,000
OZely 7Y 900,0008 x 20§ = 1,800
O2AEEI 7Y 600,0002 x 10§ = 600
OHICQERME 2 3,000,000% x 104 = 3,000




